
 
Вариант 1 

1. а) 
5

2

4dx ; б)   
1

0

51 dxx ; в) 




2

6
cos dxx

. 

2. Вычислите площадь фигуры, ограниченной линиями: 

а) 1 xy ,   0,1 2  yxy ; 

б) 
2

0,0,cos,sin 
 xyxyxy . 

 
Вариант 2 

1. а)   
4

1

2 96 dxxx ; б)   
3

2

41 dxx ; в) 


2

0

cos xdx . 

2. Вычислите площадь фигуры, ограниченной линиями: 

а) xxy 22  , 
2

2xy  ; 

б) 
4

0,0,cos,sin 
 xxxyxy . 

 
Вариант 3 

1. а) 
3

1

2dx ; б)   
1

0

43 dxx ; в) 






6

6

2 2cos x
dx

. 

2. Вычислите площадь фигуры, ограниченной линиями: 
а) 22 3,1 xyxy  ; 

б) 
4

,
4

,0,2cos 



 xxyxy . 

 
Вариант 4 

1. а)  



1

5

2 168 dxxx ; б)  



0

1

421 dxx ; в) 


2

0

sin xdx . 

2. Вычислите площадь фигуры, ограниченной линиями: 
а) 23xy  , 225 xy  ; 

б) 


 xxyxy ,
2

,0,
2

sin . 

 


